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General Knowledge

Wha wrote the book “Hind Swarsj*7
(A} Mohandas Karamehand Gandhi
(B} Gogal Krishna Gokhale

{C) Bal Gangadhar Tilak

(O M lana Azad

Which of the following regions of Ustar
Pradesh was known as “Chedi” during Sixth
Century B.C.7

{A) Bundelkhand

(81 Avidh

{C) Ang

(B Aventi

Who was the last ruler of the Maurya
dynisty?

(A Aszhoke

(B) Bindusara

{C) Brihudratha

() Pushvamiira

In ancient India, the ashram of Jamdagni
Rishi wag in Jamanive, which was located in
— district of present dav™s Uttar
Pradesh.

1) Locknow

(B} Gharipur

(7 Varansi

(D) Sitapur

King Harshyvardhan established a large center
of knowbedge which was cafiad us * Bhasdm-
Vihar® at

(A} Mathura

(B Kashi

(T} Kannayj

(¥ Hardwar

Wha is better known s ' Firag Crordkhpuri®
i Urdu Poetry?

(A) Dwarika Pragad

(B} Bishan Marain

{C) Raghupati Sahay

(D) Mawal Kishore
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Which of the following song forms are sung
in the rainy season in Littar Pradesh?

() Birha

(B} Rasia

{C) Chairi

(D) Kajri

Dewa Meln at Barabanki is held every year
in the Hindu ealendar month of Kartik on
the pecasion of the annual *urs” of the famosss
Sufisaint .

iA) Miznmuddin Auliya

(B} Waris Ali Shah

{C) Moimeddin Chishti

(D) Salwn Chishia

Which is the first state in India to have made
roof top rainwater harvesting structure
compulsory for all the houses across the
state?

(A) Uttar Pradesh

(B} Maharashira

{Cy Tamil Nadu

(D) Karnataka

The *Slash-and-burn” agricultural method of
farming is also Known as in Madtya
Pradesh.

{A) Roca

{B) Penda

{C) Dahiva

() Kuruwa

Which of the following books written by
[brahim Adil Shah 11 during the 1 7th century
is & collection of songs in peaise of Hindw
deities and Muslim sainis?

(A) Gita Govinda

(B} Kitob-g-Navras

() Padshahnama

(D) Mumtakhab-ul-Tawarikh
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In Carnatic music, an *alpiens® is similar to o/
nmn in Hindustani Classical music
form.

(A} Tomnn

(B} Tl

{C) Alap

(£ Tilana

The Indian scientist and professor of Physics
: read o paper on the theory of stringed
mstruments before the Royal Socioty of

London in 1921 due to his deep love of

s,

{A) Jngdish Chandrea Fioge
(B) Homi Jehangzir Bhabha
{C}) C.%, Raman

(B} Vikram Sarabhai

is a simple tool which s used for
removing weeds and for lodsening the sofl.
A} Hee
(B) Rahat
(&) Dhekli
{0} Moat

Which of the following human diseases sre
caused by bacteria?

(A} Measles

{8} Polio

(C) Hepatitis B

(D) Typhoid

In which of the following Latin American
countries did a water war happen in the year
2000 agninst the privatisation of water
supply?

(A) Argentina

(B) Brazil

{C) Bolivin

(D) Peru

The Headquarier of the Commonwealth
Human Rights Initiative {CHRI) is located
o .

{A} London
(R} Acera

(T Mew Delhi

{13} Svdney
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Which was the first foreign destination that
Pad Modi ehose 1o visit after he was sworm
in?

{41 Bangladesh

(B} Mepol

(C) Bhutan

(DY Sr Lonka

Which of the following countries shines its
boundaries with the Indian state of Litlar
Prideshy]

(A} China

{B: Bhutan

[T Mepal

(D) Benglndesh

*RIMSTEC" is & sub-regional group
comprising of seven countries of South Asia
and South Enst Asia headquariered at
(A Kathmandu

{B) Mew Dethi

(€} Colomba

(3} Dhaka

Which of the following districts has been
included as the 23rd distriet of the Mational
Capital Region (NCRY?

(A Shmmli

(B Aligarh

(C) Agra

{12} Mathura

Which is the first Indian state to ratity the
comatitutional amendment bill on the Goods
nrad Services Tax ¢GST)T

Ay Udar Pradesh

(B} Maharashira

() A

() Bihar

Who was the first King of the Pala Dynasty?
iA) Gopal

(B) Nandi

() Dharmagal

() Devmpal
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An estate where a iingjn't.ﬁ;h erop is grown
lorsale is Known as.

(A} Subsistence farming w

(B} Khchen garden

() Thoomm ewltivation

(D} Plangation farming

Which planet besides Neptune is known as
the * Blug Planet”™?

iA) Earth

I:EJ Aelinrs

tCY Pluto

{2} Jirpiter

Which ofthe following is NOT a noble gas?
(A} Krypton

{B} Argon

(C) Xenon

C(Eny Chlorine

Who is the author of the book *The Why-
Why Girl™?

(A Mnheswéta Dey

{B) Huskin Bond

() Enmid Hilyton

([} CHivia Fmser

. s the founder of the Gulabi Gang —
an Uttar Pradesh and Modhsvs Prodesh based
sicinl orpenisntion which works for women
weliire ind empowerment,

(A} srnpecia Pal Devi

(1] Swmpai Pal Dewa

() Shala Pal Dewi

(L) Mishi Choudbacy

Morndebad s renowned lor ok
and has carved a niche for isell in the
handicraft industry throughout the wearld.
{A) copper

(B} brass

(L) diamand
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Which wis the st country 1o aliow women
o woke

(A) Saodi Arabca

(B} India

(2 Mew Zealand

{0} Russin

Which movement in India wiis fad By the All
hrothers. Shaukat and Mubammad ALT
(&) Quit Indin Movement

(B) Khilafit Movement

00y Chalo Dalli Movement

() Bowveott Movenwent

Past 1Y of the Indian Constitution deals with
{A) Fundamental Rights

(B) Directive Principles of State Policy
() The Union Judicinry

([ Parliament

Black soil is also known ag soil,
(A) Regur

(B} Hurmies

(C) Bhangar

() Crystalline

Gardar Vallohh Bhai Patel University of
Agriculure and Technology (SVPUAT) iy
an agriculiuzal university at_____ in the
Indian state of Unar Pradesh.

{A) Lucknow

{B} Paninagar

(C) Meerut

() Saharmnpur

Articke 4 of the Universal Declaration of
Human Rights (UDHR) deals with
iA) Freedom from Skavery

(B) Right to Education

(O] Right to Own Property

(D) Right to Marringe and Family
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Which Indian WGO won the 2017 United Q36 e wedra dv @vemh d@wad @
Mations Development &ugm's{mnﬂ iR RerttEt e it Ay W B
Equaior Prize for promatingan ecologically Heefs B wgow we ferw wriEw
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(M) Smile Foundation Temr o B
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Numerical & Mental Ability

A sum of money, when invested &t o certain (76 T afd E wE i Thglar =T T !.

rate of compound interess per year, became
1.21 times the sum invested on mamurity afler
two years, What was the rate of compound
fiterest per panum?

(A) 11%

(B 10.5%

(L e

(D55
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1,21 T B sl # | i gl s A
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Satlii and Kathin invested Some money’ ina
business in e ratie & © 5, But Sathr withdrew
her money after o few months, If the end-of-
twebve-ronths’ profit was sharcd betwesn
Sathi and Rethin in the ratio 75 10, for how
many manths did Rathin alone invest?

(A} 4

(B) 5

(S} b

({7

Samrat hns an average of 51 after 11
completed innings: How rmuch dbes he need
tn score before geming out in his next innings
to raise his average by another twoe runs?
(A) 73

(B) 78

() 80

{0} 82

If 16 people can build a wall in 15 days, how
many people would be needed to build it in
& days?
(A) 32
(B) 25
(C} 24
() 30

Two traine, A and B, star simalianeousty
from twa siations X and Y that sre 600 km
apart and cross each other ol a distance of
225 km from X, If it took train B 8 hours o
complete the journey, in how many hours did
frain A complete it?

|
(A} 1ﬁd—

3
®) 125

X
© 153

1
11—
oy 133

QT

LAk

0m

Q80

it M i A o8 o5 e 4 R
srrd ¥ o 1 Faw fEm AT
T W & EE W A A O A e
o afy avs R F S F a7 0
& e A it 3w wE F e e
Ty an, o 9 S e A8 SR
[Fréa fRur w?

(Al 4

(B) 3

() 6

(D) 7

11 iR g F W EE WER A
51 B o ol & 81 = w9 e
HHE AT F i A e e e
A W s &7

(A) 75

(B) 78

(C) 80

() 82

T 16 it T SR 18 (S e o
g o & Fet 4 38 aam @ forg e
il 4 s gH?

(A) 32

(B) 25

(C) 24

(D) 30

or 24, A sl R § 3 T e X el
Y F T e AT I T 8 A O
THE # soo Fbliey gy @ ol &vA X
# 225 Teeiey &t off W o W
g = E | AR R B U e
W 8 HE T A S A e g e A
fir e SR

i

i

52
15=
(€} 153

(T3 !EE
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Bl

083

Qs4

The internal length, breadth and height of a
closed box are 10 ¢cm, 8 cm and & cm
respectively. The total outer surfice area of
the box is 592 cm?. If the walls of the box
are of unifiorm thickness x om, then x equals
(A) 1.5

(B 1.25cm

{1 1 cm

{0 0.5 em

7 experts and 5 trainees can complete & job
in % days while 4 experts and 15 trainecs con
complete it in 12 days: How many days will
5 experts and 6 iriinees need 10 complete
the job?
A} 10
(B) 12
() 14
(D) 15

Devender leaves s home everyday at §am
and reaches office at 9; 30 am. One day, he
left his home at & am but travelbed a third of

3
the distance at r of the usual speed and the

4
rest of the distance at 3 of the usual speed

At what time did Devender reach office on
that day?

[A) 9: 25 am

(B} 9: 30 am

(C) 9:35 nm

(D} % 40 am

Select the option that is related to the first
terem in the same way as the fourth (erm is
related 1o the third term,

EARTH :  VENLUS : XGPWU
(A) GBSLH

(B GCTV)

(C) CYTV)

Pl ekt LR

Q82

e de diF o wiie G, deE N
Fan gt 10 #OfET, a G e
il &) ¥ O ol TR F T
e sz HETdEw 31 uft oiwg & S
v HEF WEE x T A 8 W w
wE B

(A} 1.5 fighiee

{B) 1.25 AT

{0y | B

(DY 0,5 SfdEy

7 i affe s wiiwg s w1 # 0
ﬁwaﬁfﬂiﬁ'rimﬁ-tﬁm:ﬂﬂ1
afty 24 12 o A g o £
Friveg afiw & witwg g = i fier)

% gur e o7

[A) 0

By 12

(i 14

im 13

g o EE ao0 o W9 P
sfre g0 wor Wt wgEa 1 0w
T W B a0 aul oiE dfeT 3

i # % 7y i o s frend 59 @

r{ftﬁﬂ‘ﬁ'ﬂi‘lﬁﬂmﬂﬂwﬁrﬂ‘—;

nft ye gl ) S oW B e
T S
[A) 9: 25 am
(B) 930 am
(C) %35 am
(T % 40 am

o fage @ 909 &1 W TR TS W
e Haten & Frw oew e g diee
& i &

EARTH: = VENUS:XGPWU
(A GBSL '
(B} GCTY)

{C) CYTV)

(D) CYPL
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o, ohesd she | 8% Seiecthe word puir fyym she ahermusives in Q85 Ty g fewe! @ a8 w—gm 0 foredt

S d e o g E-I whichthe wmdsa:msini:larfynlmm ns thiy W o wE wai e e S e
ma;ﬂ T are in-the given word paiy, T - A ”
4] I i -= . p = i
;T:f; 8 l’mmﬁ: fit : Losg | AT 5 B
{A) Breadrh ; Width (AY 2 e
(B) Surplus: Deficit (B anfeer - e
(C) Viable : Feasible (€} =Eg el
([3) Vacani: Empty R
Q86 Select the option that is relwed oo 1 i : i friie
| AT | : he fhird Q86 =90 M T Fe & ot et ge f ]
ki b term in the same way bs the second term is v wREhn B A 1en g g e
[P related o the first teem T HTERE B
Lt Bl FRT Gold ; Mecklace = fron HET AT < e
R Y Vi =
{B) Ribbon (R #m
(O Bicket { V) )
= Proaa QBT “LENTSI® Is to "DLOU" as ‘GBI is tn QBF  “LENTSI® 57 %item ‘DLOU" 2 2 OFR
B | " GBI BT LRy
¢ SR A (A) HORST (A HORST
_ (B} ALLMS
_ B3 ALLMS
ok oy = (C) AFT () AFT
liI'.:.'_-'f 3 % aﬁ (00 HINT {DF-HINT
B ey m§ 088 BAG B0 'FED as 'GOD fasn® °, QB8 . “BAG T W0HT FED’ & 39 s 00D
[A) KSA ; LSy £ AT "R
(B} LSA fA) K54
(C)y KSB (B} LE&
(h LsA (C) K58
I {D) LA
B e # S o v
b oo ot e lF]IJ:R B0 NGYVOT™ us ‘ZERO" & Q89 'LETTER' w7 Aoera "NGVVGT & 70
fick — W CZERQY W WaeWE Uy
b xGPWU Ay XGTO (A XOTo
By ZGT0 tH} T
IC) BGTO {C1 BGTQ
{2} BHLP (20 BHLUIP
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002

Q05

Papaya, Apple, Guava
{A) Pear

{B) Poiato

1C) Brinjal

(D) Pumpkin

Determing ihe missing number.
3.4,6013 .24

{(A) 20

{B) 19

{Cy 17

(D) 18

What will be the Zth number in the following
sgquence?

|23, T8, 1506,

(A) 236237

(B) 3556

(C) 5657

(D) 233256

What will be the next number in the following
sequence?

100, 121, 144, 165, 7

(A) 198

(B} 196

() 194

(D) 192

What will be the 111h letier in the following
soquence’

ACE,

(A) X

(B) W

<y v

(o) L

What will be the Tth number in the following
sequence !

3.6, 12, 24,

{A) 96

(H} 144

{Cy 192

(D 288

091

Q9

(93

04

095

T, A, HRE
LA} STEMR

(B) FTey,

i) #m™

(D) =g

iRy wnn Fenfa wd )
348613, .M
(A) 20

(B} 19

({C) 17

(o) 18

fererierars o 7 adi wiem @ 9 ey
[2, 34, 78, 1516,

(A) 256237

(B) 5556

0 0

(B) 233236

Frfefas aFma 0 sl i 3 W
e

100, 121, 144, 169, 7

(A) 198

By 196

(C) 194

(D) 192

Pyt s o 10 s ol ﬁlrrr?!
ACE |
Ay X |
(B) W r
() ¥ -
(DY U

Tt arqaar # raf 2 2 95 gei
36,1224, - - ]
{A) |
(B} 144
)y 192
(D) 28K
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TR, W7

it gnfre

) 7 |

| Q% IFTIME = 209133, therl ©EOCK -

(A) 31213314
(B) 3121551)
(C) 31215315
() 3191530

097  If Sheona s 40 m owards South=Weay of
Teeas, and Reens is 40 m towids Soyth-
Ezst of Sheens, then Meena is in which
direction with Pespech 10 Teena?
(A) Morth-Fas
(B} East
(C) Wesi
(I South

9% RBis standing 2 km o the Wess of AL C e
stunding | km 10 the North of Band 2 km i
the East of D), E s anding 4 km to the Spaih
of Dand 5 km to the We of F, In which
direction s F with FESPEct to A7
(A) Nonth-Egsz
(B] Easy
(€} South-Egs
() Souil

0% Considerthe given staternents o be frye i

decide which of fhe following conclusicns
togically fallow(s} from the Wo given
idements, desregarding commonly known
facts,

Statements:

Scme hens are ducks

All the ducks are pigeons,

Conclusions:

I Some hens are Pigeony,

Il Some pigeons are dicks

(A} Only conclusion | folfows,

(B Only conclusion 1 follows;

(C) Meither conclusion I nor H follows,
(D} Both conclusions | and || follow.

e

Qo7

LR

LT TIME =2081 35, ot CLOCK =7
(A) 31215314
(B) 3121550
Ch 312183
(I 3191531

m‘FT ?ﬂ"'I—L ol & ﬂ;ﬁ?—uﬁﬂ‘f ﬂ'ﬁ Gﬁ? 40
e 1 gft v & ate By 4 e
ot e 4 ey Y 3, e F, Fey

F wT f fem o
(A) @i o ﬂ“‘fy

(B} +

{CY YyEem
(D) =@ £

C.B& o 4 AT Aty Dok v
2 e ) TR EDF afivr
4 Fvarfiey 3 F & uiEns 4 5 Py
miﬁmﬂla#rWFﬁﬂﬁwﬁﬁ?
(A) Teere—yd

(B; 3

()

oy o

SR g e o Ry 9 o, s

s awal TR B g A

I B o s Prand 2 fag o

'ﬂﬁ‘fmafﬁﬁwwf;mwa;

T

0 5T e

ol aw g

G

I %w it s )

L. % wpr e

E-’-}ﬁ'ﬂiﬁ'.-ﬁ!-‘q‘]um—.rmrm

(B) & Fed 0 qnes we &

{C) #rar Hﬁ%ﬁiaﬂq:{! #1[}3_‘1!1—#" T
T 2

(D) Fremd | afte frasd o s o e
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Q101

Q1

QL

Consider the given statément and the
following nssumptions 1o be true and decide
sehich of the assumptions islore imalcit in
ihe stterment,

Stabament;

Spve woker, aave the earth,

Agsumptions:

|,  Earih saves us from denger

1. ‘Water is colourless.

(A} Oy assumption | s impheit

{8} Omlyassumption |1 s implicit,

() Meither assumption | nor 115 implizit
{D% Both assumptions | and IF are implicit.

Consider the given statement and the

following assumptions to be tree and decide

which of the sssumptions is'sre fmphci in

thie statement.

Stalement:

Greup discossion is good o develop

cammunicatian skils.

Assumptions:

. Teachers must arrange for grosp
discussion in the class.

I1.  Each child should be given change io
speak in a group discuszion.

{A) Only nssumption | is impligit.

(B} Cnlyussumpiion [ s implici.

(T} Metther sssumption [ nor L is implicit.

(D) Both pssumptions § and 1 are implicit.

Which of the following is NOT a prime
number?
(A) 104
(B} 1301
(C)y 160l
() 19401

Select the most appropriate option 10 solve

the equmtion.

0 6 =x{24: B #d} +3=

(A) 8

(B) 20
!

(€ Y=

(2 16

o

i

Q102

0103

fag y e o Peeioriam amomad @

v TS A T o T e i e

BT S e & o)

EEIEH

W, el ) A

EIRUIT :

L gud) ¢ff Weel @ a=E 8

. I 3EE B

(A) e awen |t &)

(B) T W ) s #)

Caw B I il B i e B
2

(1) G | afre e 1S sEGTREE B

T my e s Frefafas awensd &
wfl wadl s Fola & & wem F P @
L W P 3 | T

T

TR e Pt o @ R g 9=

o B
=

L gan A wyE ==t fory men
T A

1. Wil W S TE uE A e
dvem P o =R

(A) e SR | aaeiee g |

(B} T e s B

(C) A7 i aEem 1A 8 e TR
Bl

(D) = 1 af s |1 =T sl §

e W o E anney HEn T B
{A) 1001
() 1301
() 1601
(D) 1941

AT B T S e we Sy
famel o g |

90 =6 = (3B +4) 3=

(Ay IR

(B 20

A
e LI
() ‘dl
(B 16
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[ &Rl -l

g7 #
[
&
B T

§ amPifas 1

A wroH] @
o M O e

ferg T Wl
= fore wrEEn
F& gl sl

| 3

A

= 11 e
& smfife

= e B

B Al AT

Q104

10

(104

o7

QG

Select the most approprivie option to solve
the equetion.

I35x12=

(A) 18.06

(B) 18.6

(C) 1.86

(D) 1860

Select the most approprinte aption io solve
the equation.
11 56

A Pl

8 33

|

(&) 3';
|

e

®) 73

(C) 3=

— B[ —

o =

iaa

The HOF of 32, 78 and 1561
[A) 13
(B} 39
() 26
(D) 2

The LCM of 52, T8 and [56.1s .
(A} 156
{B) 312
(C) 2}
() 468

The monthly savings-expenditere ritio of

Mrs Singh's famiby was 3 1 B T a month in
witich the family’s ipcomie was T 27 504, the
savings would have been T

{A) 7,975

(B} T.500

(€ 10.312.50

W

0105

Q106

QL7

CHO4

HARAD 61 f6 W @ 0 e g
fiaren @1 ||

[R5 Pl

{AY 1806

(B) 156

(C) 184

(D) 1RG0

Lihik e R MU B B O 2 R T
156

Ny o | s
FaEey 1 7| s

|
{A) 33

it
iBj 3

i |
() 33

2
{0 ]

52, TR MTE 168 W AEOT WAITOH S
R L | I

(A) 13

(8) 39

(C) 26

(O} 2

a2, o 3% 156 T AR wHMEE (yed)
A 1| S |

(A) 156

(B 312

{C) 234

(D) 468

gtrht fis & wlan o afhe san-ms
AT 3 - & ur) fEw AEE § efeare o
A B 27500 €, aw nie g O #0Y
A TTOT7S

{B} T 7.500

(Cy T 1031250

(B To.600
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D108 The difference between & 13% loss and 11%%
profit while selling & toy was T 108, What
should be the selling price of the toy if the
profit camed wis 12%7
(A} T 440
(B} T 430
oy £504
(R

Q110 If 45% of & number is 135, The number is
{A) 243
(B} 275
(C) 280
(DY 300

Q111 A set of cups, when sold for ¥ 720, led 10 8
loss of 20%. At what price shoubd the set
have been s0ld 10 make a profic of 37
(A} T 975
(B) 950
{C) Tods
(D) T 935

QU2 A pair of rousess with a marked price of
750 was sobd a1 T 660 during a sale. What
was the percentage of discount that was
offered?

(A) 12
(B) 125
(Cy 11.3
ey 4

(113 What would be the interest payable on &
deposit of T 1,500 invested for four vears at
#% simple interest per anmum?
{A) T 500
(B} T 480
{C) T 520
(D) T 475

Q109 T Fwefl o1 139 w70 ot 11% =m0

fasrm e adme 3 108 81 B W FW12%
& 7 fasi gm P e @m E7

(A T440

{B) T4%0

{0y 2504

(D) ¥ 514

Q110 Tl s @ 45% SR 135 2 98 WEm
AT
{A) 243
(B} 275
(C) 280
{0 3(H)

QUL T e 9w 720 o offe ov de
T, T 20% @ TEWE g1 5% W T
o & fa e W fem 2w o dm aEen
EnfEy?
(A} 975
{A) To50
() To45
(D) T935

0112 2 750 @ sifeT Fmm el vaER BE @
A T 660 W A TE o) gEE
witra e & 7
(A 12
(B) 125
{C) 115
(D) 14

Q113 aﬁﬂrﬁmﬂmmaﬁﬁwzlml

W 4 WA B SR T
(a) T 500
(B) T 480
(C) T 520
(DT 473
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0117 Select the optian that {5 pelated 1o the third
term in the same way s the second lerm is
relaged o the fiess verm,
GE g 2T
(A} 7
By 9
)8
i) 38

i

Q118 Select the opeicn tlas is related to the third
term in the same way as the second term ks
related to the first ferm.

Books : Kpowledge & Films 7
{A) Frustration

(B} Entertnimment

{C) Havoo

(1)) Emancipation

a11g I o boas mce, Ramsn came ahend of Vamar
by & 10-second margin; Naman came ahead
of Gagan by 12 seconds, anal Laddan came
ahead of Madan by 18 seconds. Vaman
fisished just 1 second afler Laddan, and
Maman finished 2 seconds afier Madan. Who
among the given frends finished first in the
rhica’
A} Laddon
(B} Rarmnan
(T} Warnan
(13 Mndan

(320 Six friends, Lata, Mala, Neeiu, Otly, Parmeet
and Qadirn, are sitting in a circle facing the
centre, Each person is seated gxactly
DppKisite one friend. Qaadita is silting neither
nixt to nor exactly opposite Mala or
Parmest, Parmeet is sitling exacily opposite
Lata. Meeku issitting 1o Parmest s immediate
right. Mala i sitting opposie Meely. Olly s
sitting to Parmest's immediste laft. Wi is
sitting oppesite Olly?

(A} Parmesl

(B} lLatm

{C) Qudira

(D) Either Mala or Neelu

Q117 % T =0 T s s LA
o AT g e w T
w3 A AR 2
63 hoR2:7
[y B
By o
1C) 8
(D) 33

Q1iE an fies ol e 6l i A s & =
g it € Fem WRR G T8 Taa
qr ¥ R &

TR o B - o
(A Treen
(B TR
() e

(D} o

8] b

Qe qtﬁ*ﬂﬂﬂﬁaﬂ.ﬂﬂﬂ.wrrlﬂm
el 1, T A 42 T e Sl
e 9 1p TRTE T A E ) o, A
e 1 HE A AR, Je 42
ngﬂﬁmﬁlﬁqwﬁqﬁi'&
dim i e 3wl 27
(A) TEA
[B) "THA
(C) T
(DY EA

Qizd wE P T, |, S, S,
ey UE g A AE
E|nﬁﬁmﬁﬂﬁ:ﬂ|ﬁﬁﬂ$ﬁa

mﬁﬂmﬁimﬂ‘ﬂ,mmmﬁmﬂ
ars 4 st A B T e 49 d

q!%.dﬁl#ﬁa@aw'ﬁrh

= DL

i fg A g QN

e e o ad B e e
w4 &\ e, wel o g

& s o s @ AR

{A) T

() = :
(C) Wi O 25

(L 1 T FeT A
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i o dee ug A oHl
W GEY UE U

?

o, T 10 HEha
#ws qeel T A
anm & | oeE, o #)
o, W o 2 R
fame = At A 9 B

LE T
T

-
i
i
- 4 —

|
i3

11z
o

Q122

Q123

Q124

Lapa

e in e sanse wity' is the second term s
refated to the firs term,’

Oral : Speak ;- Ayral + 7

(A} Rend

(T} Writa

{C) Sing

(O} L#sten

Ina three-begped race, Sile-Gita came shead
of Anll-Sunil;’ Anju-Manju came ahead of
Sona-Mona; wnd Luv-Kush came ahead of
Sita-Giita, IT Anil-Sunil were thead el Anju-
Manju, whowon the three-legped rce?
(A) Luv-Fosh

{B) Sona-Mona

Ty Anil-Sunil

(¥ Sita-Gita

Select the option that is related 1o the thind
Term in the samse way &8 the second term is
relnted to the first term,

England : London : : Bangladesh: 7

{A) Ealkita

(B} Alipore

(C) Dhaka

(D} Salimgonj

If *MINISTER® can be coded a3
‘RETSINIM, then how would vou eode
‘PRESIDENT™?

iA) SIPRETKED

(B} THEDISERP

{C) PREDENTSI

(D) TNEDIPRES

In 0 certain code, BAD is coded as [6-1-4,
How will CAGE be coded?

(A) Gn1-49.25

(B) 25-49.]-0

(C) 16-1-4-9

(T3} 25-1-9=49

&1 e

QI3

0124

Q125

S okphey I il T

v A e e THY wE OEd,
TG W Haan &)

iftam « T - me - 7

(A} T

(B) ferar

{C) w1

(D) 7

vt Py 25 4 wie—for sfm—gha
TEH; SH-HY WA W TEd aih
FA—T AT # oEe o &) g
I sl @ e & o e
s 1 [ #e &0

(A} Fa—am

(B) Hi=—=

i) MFE—gda

(1) #en—fim

T8 e &1 v B o d o @ we
v WD & e veE gen uw wd
TS H T B

g7OoE : WE - drordy o ?

(A) FremE

(B) Wt

{C) 3T

(D) Hefrrsy

o el s owmr ¥ MINISTER' &
‘RETSINIM® o @ & &) aig
‘PRESIDENT" &t v Faai?

(A) SIPRETNED

{B} TNEDISERP

iC) PREDENTS]

{D) TNEDIPRES

UE Fiigem i Wi § BAD 31 16-1-4 #s
i =wn &1 CAGE w1 we e gy
(A) 9-1-49.25

(B} 25-49-1.9

(C) 16-14-9

(D} 25-1-9-49
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2126

127

Q128

Q19

30

Iln a certgin code langsage, THAMNES i3
coded as SKENTHA How will REGRET be
concded?

1A} REGTER

(@) GERRE]

{C) TERREG

{13 TRREED

Select the option hal 15 reduted 1o the third
serm in the same wity 2 the second term s
pedated to the first terim.

6264 ::22 7

{A) 220

() 4440

{C) 284

(D) 495

P ks the sisterof O, R s the fther of P and 5
i thie mother of B How is 5§ relmed to Q7
(A} Grandfather

B} Crranddaughier

(C) Grondmathet

(D} Maother

Durga is Phariu I‘ﬁ.w‘s wife. Durga’s son,
Vijay has 1w sis5eTs; Ghalinl-and Malini.
Ghalints husband Murugendran has & som,
Shivam. How is Shivam related to Phanu
Pratup?

(&) Son-n-lw

(B) Son

() Grandson

(D Mephow

tianish is Garima’s hasshand. Puresh's wite.
Malin] has & brother. Jignesh and o sister,
Carima. How is Jignesh related iy Monish?
{A) Father-melaw

By Brother
{22} Son-in-lsw

Qito

Q127

0128

QY

3130

o fiftma T W H THANKS 31
SHNTHA #Ts fea Fn # 1 REGRET it
e -
(&) REGTEE
(B} GERRET

() TERREG

(7 TRREEG

o FEs ) = i St T
v ey B T HER TEE O e
g o HamE ¥

[6=-264= 727

L e

(B) 440

{Cy 284

(T} 493

P wE & R, P [ e g, R
# #1050 & fba \eRre i B

(A} TTET

(B} TR

() A

L

ot weg W = g gt @ A2, G
A < 4w, i alre w8 | Wi
iﬁ'IrﬁWﬂQﬁﬁmﬂﬁﬁﬂilﬁﬁ‘r
v UAT @ F R HkR &7

(A) THTE

(B

iy =l

() i

i w1 mrrrfi'.aln%mn'itqﬁi,qﬁ-u-rﬁ
o1 e WS, Torern i S A, st
Fmn i @ e W e B7
{A] T

(R} ¥

oy =

(D) W

b LA
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L3 Inihe boellowing Venn diagram, which fmber

| THANKS =
| S best represents Indian ceop wiidch is & ceros)
but et pare?
L}
3 \ﬂﬁ“‘
A T
F I'E s - 4
B TR A \\ _/B/
I 5T O UET |'__'
P, YT
[
O -~
L) v
(A) & (B 4
Cy 7 (o 3
B &g R
Bl B7 D132 Which of the Following mmbers in the Wirin
dingram shows the colorful singing hird?
1 o .r
N
|
B &) i [t
B &1 Rem % :::m
ir
i 17 :
(A 5. (B} &
i <y 7 (0y =
i '-'r'hfchnfmef'nlrnwingnpmmhcﬂauitﬁﬂw
Tillowing Varn diagrum?
e, T
b, e &g
minfE 27

(4] Metal, soufium, Muecrines
A Tll;frnjdglmd.;:rituilﬂ.q‘}'giand.
endocrine gland
. (C} Gramdfather, father san
g (P} Incin, Uttar Pradesh, uskiaw

| S —

Q31 Pre=fefm o i i T
oD w
Hﬂﬂmmmqﬂﬂ_ﬁnwhﬁ B e @
i e Y 8

£ nen

D Garsal
E:} From

{A) 5 (B} 4
[C} T oy 3

Qi3 ﬂwm#ﬁrﬂﬂﬁ&h‘eﬁ i
_ e wE
Al {0 Rl S &2

1 T

OO
Ll

(A) & B} 6
(C) 7 (1 2

D133 Frefafam & & T W e e
ﬂﬁ&ﬂﬁ:&ﬁhqﬂﬂfﬁmamgm&?

(A) HRL Wil ol

1B) "RrTEER dhy 3 simand gy
(C) wrar Far, o=

(D) W, wow i aws
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Q134 Which af the following aumbers in the ".-':nr;
diiagram represents the soft- hearizd feacher:

p

A e
] et iuard

() Teackst
(A) 2 (B 4
{CY 5 o 3

(3135 Which o the following numpers 0 the Wenn
dingram shows the wicked black cat’

(A} 1
(B} 4
() 3
(D) 4

0136 Find the odd figlre from among the

fodlowing:
A 4GP
it 4 ol 1:
(AY | il B
&0 (o
(r— D TRt
eyl -\._I:.'!-I (D} "-.__LI_.'

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

Q13 S o T R i
i i R

P

|:| Zaft Har1md

C:I Tmalimr

(A) 2 (B) 4
{C) 5 {0y -3

o135 T S i fpsy S i T Al EIEAED
it Ty S £

o13e FrsiiEa prepferet B ATEAT S £ g5

ﬂll't
; -
| & .::'\-,:
‘.nl-| !_*I.| .:-l-'” l'. :--"'I*:..,‘_-
1 -
@ ) @ T

-




§ v wom

T

TURSN CTYLTUCLIGCS DG DR W fhi
others?

(A} Graph

i B} Bar graph

{C) Histopram

(D} Manegraph

QI | Ideatify the odd one out from these il phabets;

(A -A
{B) F
i1 E
{0} &

D139 Idemtify the odd one out from these four

| e T

Wicked
Black

7 Ml iy

| Cat

figres,

Al e

A [ | € 4]

(A A
{B) B
(T} C
o D

WhES identify the odd one out from these four

rrr'a!i'rtrtsfrrﬂ]

figuires.

o

(A} A
{8} B
iy
Dy D

Q37 o W e e e e 2

(A) TTH

(B} ¥R
(Cy et
(D) e

Q138 Frefaritem a4 9 simg & aram o

{AY A
(Hy F
() E
{0y 2

Q139 T g =yt A & s 9 g

G A
A @f@] |
i
A B C 3]

(A) A
(B) B
(0} £
(0

QI40 & 5 AT AR F F swiTa 3 e

& |

N

(A) A
B) B
() C
D
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(3141 Find the pdd figure from amdng ihe
following:

A0

o 9
oLy
() Tf{_t:

142 Ot of the five letters marked (a) () (C)
{1y ond (g}, Four are gimilar in-a certain
manner. However, one leter ks nod like the
ather four. Choose the lener which iz
different from the rest.

T F L A

1] w0 (=
(A B
(B} 2
[3) &
{7 2

(143 Out of the fve letiers rarked (o), (&) fch
(&) and (g), four are almilar in a certain
manner. Howgyer, Qnd ketter is not like the
ather four, Choose the letter which is
different from the rest.

[s [T lulv]Ww|

i1 ] ] i jl
{A) &
(B d
{C) &
10} &

{Elil-l_- TEREA LRI ISR T

it 4
» £6H]

() i

-

A

1) I A LLJ

Q142 (a), {b), (eh (d) Y {e) & aifteg dig wd
ﬁﬁmﬁﬂﬁhﬁtﬁiwflsﬂﬁ.
O T are e T | W e
o4 i el # B

Sl

(i) ()
[Ay b
(B) @
5
(D) e

0143 (a), (b (2D, () afr (o) A A R
ﬂﬁqﬁﬁﬁﬁﬁﬁ‘rwﬂqﬁﬁqﬁmﬁ.
e s W o E B | 9 SR W
it e el @ B B

s [TIU|V W
il m i e
(A) €
(hy d
[Ch e
{D}a

SET-6k
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g Hus
| BTl
B AT

LR

e e
21 i
e EH*

saquence, Select the choice from the answer
figures that continues the sequence.
Problem Frpure:

OVRHA

Answer Figure:

YOy

(A} A
(B) B

(€} C
o D

Select the correct Image that will nppear in
plnce of question mark:

Aol [@elov]: ?

i |
|

o ()

Q145

srpfaEt # # o9 e w oawe woar
g am o gl v

OTaod

JOYY

(A} A
(B B
) C
(D} D

qAfE 6 WE WET Mpl & TEAE T

AW 3] 0[] 7

e (0N

(Al

(B)

QeE®
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WA A
S B
o C
iy D

Fdd the commect mror imase of the-siven

r—
BEly

(A} QJT-EJ' (B) Q_F_'q
() El]—g () Eﬂg__l?;

Select the correct image that will appesr in

place of question mark:
Ot [0 @) BV [0 =[]
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PAF A
8] B
) C
(0 B

Q4% g st T wdt i wleE 5 e

s | |

(A)

SE

(E}]

a3

(Ch

o

Q150 SR A HIE e AUTH B TEEE e

O+

A

-|:||:::

w 7] @ (N
&) » (&

..-""fﬁﬁ"

C) x‘-..@ .-l;

O

Tol-{"]

Dy @
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